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class Textfile:

ntfiles=0 # counts how many text file objects created
def init (self, fname):
Textfile.ntfiles +=1 # like static variable

self.name = fname
self.fh=open(fname)
self.lines=self.fh.readlines()
self.nlines=Ilen(self.lines) # count lines in file
self.nwords=0
self.wordcount()

def del (self):
self.th.close()

def wordcount(self)
“find the number of words in the file”
for In in self.lines:

words=In.split() # internal variable to aid with clarity
self.nwords + =len(words)
def grep(self,target): # printing lines with ’target’ string in them

for In in self.lines:
if In.find(target) >=0:
print(In)
def main():
a=Textfile(‘test].txt’)
b=Textfile(‘test2.txt")
print(“The number of text files open is: “, textfile.ntfiles)
print(“information about the files (name, lines, words) : )
for f in [a,b]:
print (f.name, f.nlines, f.nwords)
a.grep(‘example’)
main()
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print (f._Textfile__name, f.nlines, f.nwords)
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class b(a):
def __init__ (self, xinit) # constructor for class b
self.x=xinit
a.__init_ (self) # call base class’s constructor
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class FirstClass: # Define a class object
def setdata(self, value):  # Define class methods n22 nrnd 22N RS Do

self.data = value # self is the instance
def display(self):
print(self.data) # self.data: per instance

:D'AXY 1IX NYD
x = FirstClass() # Make two instances, each is a new nhamespace
y = FirstClass()

:NIn y-1 FirstClass :xin x-w x? n4ai L FirstClass :np7nmin 9w nnavoxn? nwa mwr y-71 X -9

7Y N DX DX NN AR7NNY DNIYR 0N 07X ,0'pN 0'7'nnn n9R nroptair v CFirstClass

,AYIINN YV WID'N Y ,NP7NNNN [YOXNN DY NX X' [I'M'D ,NP'7NN2 D'R¥NIY D1"'OXNYT D'IoN
runY

x.setdata("King Arthur") # Call methods: self is x

y.setdata(3.14159) # Runs: FirstClass.setdata(y, 3.14159)
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display n71von nx 7'wvon? n¥11 0OX NYdI.NITIRON 7W YIXAN [AT2 NIR DT .NXI Nann np7nnY
i b)
x.display() —-> King Arthur # self.data differs in each instance
ydisplay() —->3.14159
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:INd NTIPO NDINA NNY DA CWWOKN ,NTN "N T NI 17'9X 7Tinn .(public) nipn 722 n'wia nanwnn
x.anothername =“spam”
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FirstClass 7w np'7nn-nn x'nw np'7nn X" anaim
class SecondClass(FirstClass):
def display(self):
print("current value =", self.data)

un1I9a 0'9TnY? (FirstClass) o'oan niZ7nna N N2dw , display :n71v9n NX wTNN 17TaN XD
N1t XN P71 setdata :n71v9a nyax X7 nxr nniy? .(overload 1x) override nyx1 i v
:aIT? .SecondClass -n 11xw nmyya win'y?

z = SecondClass()
z.setdata(42) # Finds setdata in FirstClass
z.display() # Finds overridden method in SecondClass and prints: Current value = “42"
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class FirstClass:
def setdata(self, value):
self.data = value

def display(self):
print(self.data)
class SecondClass(FirstClass):
def display(self):
print("current value = ", self.data)

class ThirdClass(SecondClass):
def __init__ (self, value):
self.data = value
def __add__(self, other):
return ThirdClass(self.data + other)
def _ str_ (self):
return '[ThirdClass: %s]' % self.data
def mul(self, other):
self.data *= other
print(self.data)

def main():
a=ThirdClass('abc")
a.display()
print(a)
b=a+'xyz'
b.display()
print(b)
a.mul(3)
print(a)

main()

:NRXIN
current value = abc
[Thirdclass: abc]
current value = abcxyz
[Thirdclass: abcxyz]
abcabcabc
[Thirdclass: abcabcabc]

In'w) SecondClass -2 wTnn mTanw display : n2von nx n'7'von a.display() nTij7on _:1aon
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class rec: pass
:D'2YI D'ONN TNXI N'DINA .rec :Dwa NI7IYS X771 DNWN X77 .0 np'7nn TN
rec.name=‘Bob’
rec.age=20
Bob :o0'97 print(rec.name) :7wn% ,01"oxN7 oN'Mn7 "WOX Nyd
DXV 1IN NYD .OXY X' N9 N'7NN DA ,0N17) .rec :aion DYY DI X' X7 " Tyw 17 my
rec aion

x=rec()

y=rec()
print(x.name, y.name)

> Bob Bob
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x.name=‘Sue Ellen’

print(rec.name, x.name, y.name) —> Bob Sue Ellen Bob
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class Person:

population=0 #static variable

def __init__ (self,name, age):
self.name=name
self.age=age
Person.population +=1

def totaPopulation(): #static method
print(‘There are {0} people in this world’.format(Person.population))

p1=Person(‘Jenny’, 30)
print(Person.totalPopulation())



